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 X=t y=t z=t
J 2 t
S(t)
£
I =1
S(t)

[ ]

[ ]

S(t) >0 t t, <t<t,

V = LtZS(t)dt
[ ]
N (t) el YN



{1} liml,
n—oo
b b
jhn(x)dx< I, <j g, (x)dx ! Integral
a a
[ ] Sy

1 1 1
ladb e——db e——db —— dL 500000

2(1 3(1 4(1
n+1idx<1+i+i+i+ ...... +i<1+ nidx

XOt 20! 30! 40! nOt 1 XOt
X 0<x—-[x]<1 X=1<[x]<x

a,,="f(@,) lima,
vx,yeR;| f(X)—f(y)|<k|x-y| O<k<l
f(x)=x X 1
0da,-akk|a,-akk®|a, ,—al<--<k™|a -al

limnx"(-1<x<1)

n—oo

n(n-1)

2
h>0 @+h)"=,Cy+,C.h+,C,h" + ,C.,h">1+nh+
n n
O<n|x|"= —< - 0
Q)" gy gy MO =D e e
2
. X . n
lim— lim—
x—>o X nowo 2N
1
ex>l+x+Ex2,(x>0) , 2"> C,+,C,+,C,
sm—x—smk—ﬂ—(ﬂ—x—k—ﬂ)cosc (—<c LX)
2 2 2 2
Kokl ko omx kel
n n 2n n
X k= . kz 7x k=x k
(—-—)cos—— 7z <sin—-sin—< (——-—)cos—7
2 2n 2n 2 2n 2

h2



13]

vot  y=FO&=)+F@)

x=t f-g=(x-a)’A
X=Xo y=o(t)
( )
( )
envelope
f(x,y,t)=0
%f(x,y,t):o

C:X+y*—2tx-2(1-t)y=0
P:y=ax’*+(1-a)x+3-2a (a=0)
0<t<1 , L :y=(2t-1)x—2t* + 2t
0 y = (cos@)x —cos 20
=c0s0
C X2 +y +x+(2k+1)y+k’>+1=0
[t]>1 l, 1y =2tx—t?

0<t<1 @-t)x+ty =t(1-t)

0<t<1 , Iy =3(t* -1)x - 2t°



] [

AP=tu p=a+tu ( )

X Xy | X, + It
yl=|Y,|+tfm|=]y +mt
z z n z, + nt

]

X =1+ 4t

y =2+5t

z =3+ 6t
X,Y,2)=(1+4t,2+5t,3+6t)

(@’
/{

x-1 y-2 z-3
X=X, +It 25 6 (=1)
y=y,+mt X_IX1:y;nY1:Z_nZ1(:t)
Z=12,+nt
x=1Ly=3z
— 22— Xx=3Y,2
n-AP=0 n-(p-a)=0 X—3=Y.1

a(x—x) +b(y—y)+c(z—2) =0
ax+by+cz+d=0

AP =su+tv X=a+Ssu+tv

ITA ~\

i~ g ™ ‘

e

ICPlr [p—cl=r (r>0)
(x—a)* +(y—h)*+(z—c)*=r?
X+ y>+z22+Ix+my+nz+p=0

~\ N7 . an ~rs_ ~\ ~

(Xx=1)*+(y-2)°+(z-3)° =5

2

[Def.] a=(a,8,3) b=(b,b,h)

axb =(a,b, —a,b,,a,b, —ab, ab, —a,b) eV

[ 1a=(10,2),b=(L10)
axb=(-2,21)
(a,b,c)
a=(1.,02)
1 1
A(Xq: Yo120)

a:ax+by+cz+d =0

q :|ax0+by0+czo+d|

JaZ+b?+c?

[

/ 25







Ll 1
1,-2,3) u=(2-13) (-1,2,3) (013)
x-1_y+2 _z-3 u=(1-10)

2 -1 3 > x+1 y-2 z-3
X =1+2t / 1 -1 0
y=-2-1t X+y=1 z=3
z=3+3t X=-1+t

y=2-t
X=2-3t z=3
12,-3) y=1+t
2=t B2  XS3_2Y_
. 2 3
u=(-31-1) S a1
x-1 y-2 z+3 u=02-3-1)
= = x-3 y+2 1z-1
-3 1Al 2 -3 -1
X =1-3t // X =3+ 2t //
y=2+1t // y=-2-3t //
7=-3-1t 7=1-1t
X—-2 Yy+6 z+6
P(2,6 : = =
L] 1 (1,2,6) g =T,

H P g I
H(2+3t,-6 - 2t,-6 + 4t) PH = (4,-10,-8) //(2,-5,-4)
PH 1 (3-2,4) x-1_y-2_12-6
< 3(3t+1)—2(-2t—8) +4(4t—-12) =0 2 -5 -4
-t=1 P X =1+ 2t P

H (5,-8,-2) y =25t

Z=6-4t
P g [

PH = /4% +10% + 82 = 6/5

[ ]

g Q(2+3t,~6— 2t,—6 + 4t)
|PG [P= (B3t +1)2 + (=2t —8)% + (4t —12)?
= 29(t —1)* +180 > 180

t=1 180 = 6+/5




l:——=y-2=—+— m:——=y-1=z2
L ] 2 ~2 a7
| m 0 | m P
U=(21-2) v=(-411) I (2+25,2+s,—1—25§<
a m (2—-4t1+t,t)
cosq=—S¥1-2__ 1 O<a<7x)
- Jo1s 2 2+2s=2—4t s_—2
f o =135° 2+s=1+t 3 3
6 =45 135 15—t t=1
0°< o <180° 2 41
[ | P2
3'3'3
I m h
U=(21-2) v=(-411) Uxv  (3.6,6)//(12,2)
D T T |
h 3:y 3 _ 3 h:3x—2:3y—4:32—1ﬁ<
: 1 2 2 2 2
D [ 1 I:X—_?’:y__llzi m;;zzy_ﬂ"zzo
1 1 1 1 -2
X=3+1s X =2 +1t \_“ m a
y=4+1s y=-1-2t (2-10)
z=0+1s z=0+0t (21-3)
a:2x+y-32-3=0 f
3+s=2+1 <=0 | (34,0) %
4+s=-1-2t t=1 | q_l6+4+0-3]_ J_4
s=0 \/ Va+1+9
oL (3+s,4+s,s) seR
I m m (2+t,-1-2t,0) teR
-1l+t-5s
PQ-|-5-2t-s|  \_
. )
2_ —_—
DlPQl_ PQ LI
(-S+t =1 +(-s—2—5)* +(-s)’ PO L m
=357 +2(t+6)s+5t2 +18t +26 | U1+1-8) +1(-5-2t~5)+1(-5)=0
I(-1+t-s)—2(-5-2t—5s)+0(-s) =
t+6., 7 7| -35-t-6=0 S+5t+9=0
=3(s+ ) (t f) > 3 554 13
:t:—— =\—4———,—
S 5 Q =( 2)
14 _— 1 3 14 14
s=t=_> V14 1PQ |- \/(—1)2 TSN N LR
2 2 2 2 4 2




[l 1

12,3

n=(2,-31)

B(2.1-1)
OABC

A(L-11)

L

C(331)

2(x-1)-3(y-2)+1(z-3)=0
2x—-3y+z+1=0
[ ] 2x-3y+z+d=0

AB = (1,2,-2), AC = (2,4,0)@

ABx AC = (8,-4,0)//(2,~1,0)

(1,2,3) 4=l o 1)-1(y+1)+0z-1)=0 2x—y-3-0,z
2Xx-3y+z+1=0
[ ] ax+by+cz+d=0 3
ox=loy ozl (4,6,6)
2 -1 3
_ -1 2 3
1 (1,0,-1

(2,-13),(-2,-11)
(2,-8,~4) I1(L,—4,~2)

Ix-1)-4(y-0)-2(z+1) =0

(4,6,6) —(2,3,4) = (2,3,2)
@,2,3) (5,4
5(x—4)-4(y-6)+1(z-6)=0

BX—4y+2-2=0 //é/

X-4y—-2z2-3=0
H: 1 AL-10) n=(2-3) «a
a a Y a 'y 0
2(x-D)-3(y+)+1(z-0)=0 y x=0,z=0,y ﬁ=(2,—3,1) G=(0,1,0)
2x-3y+z2=5 2x-3y+z2=5 a
y=—E cosor=—— -3
arnrd a2
(O<a<nx)
0.-2,0)
) 3!
P(2,-13) a
P a d h H P a P
|4+3+3-5] 5 X=2+2t D AD . 2D
d= = : OP' = OP + 2PH
Va+9+1 V14 h-{y13t 2x-3y+2=5 - - 48 16
_ _ =2h-p=(—,—,—
h:X 2:y+1223 7 =341 P (777)
2 -3 1 2Q2+2)-3(-1-3)+(3+1)=5 [ ]P'(a,b,c)
9 1 37 '
(.25 LH(=,= = P,P a
7 14 14 PP' | o
I I R Y
3 14 14 L) Ml




(11 ] 7:3X—2y+2+14=0 |x=Ytt_z+2
2 3
0
x=t n n=(3-21)
y=-1+2t | u=(12,3)
z=-2+3t a
3Xx—2y+z2+14=0 2 1 Vs
_9(— _ _ cosa=——=—,(0<a<n) 0=——«a
3t—2(-1+2t)+(-2+3t)+14=0 Jia1a 7 5
t= 7 (~7,-15,-23)
[ ]
| 7z | 7z |
| 0-1-2) x I 0-1-2) =
- OA+ 2AH = (0,-1-2) +2(-3,2,-1)
x =0+ 3t
A (634
N I 7 15 23
. o 1_ = _ X+ _ y + _ Z+
Vs 7 3(3) 2(1_2t)+( 2+1)+14=0 e T T3 I - 4133
t=—1 H(-31-3),PH (4,16,20)//(1,4,5) [ X+7 _y+15 _7+23
| X+7T _y+15 _z2+23 1 18 19
1 4 5
N 1 aix+y-2=2 p:2x-Ty+z=4
() 0
n =(11-1) m=(2-71) n=(@11-1) m=(2-7))
(2,1,3) o
y=0
~6 V2
1 2,0,0 cosa = =———,0<a<n7m
o (2,0,0) 73452 3 ( )
| —e_Yy_z
2 1 3 O=r—-«a a
a,p 4 a,p
(6,3.9)/1(2,1,3) (X,Y,2) a B
2X+y+3z=0
|X+Y-Z-2| _|2X-7Y+Z-4

VI+1+1 4+49+1

6(X+Y-Z-2)=+(2X -7Y +Z—4)é




HE ]

S:X+y +2°-2x+6y-8z+1=0
o X—2y+22=06

() Xy
S:(x=1)*+(y+3)*+(z-4)*=25 S=S|cosd|
@L-34) 5 o n =@1-22)
1L-34) « ~ 01
4 11+6+8-6] Xy m=(0.0.1)
V1+4+4 “ 2
oS =——=— A
9v1 3
: L O )
a cos 6 = —
1 1 2Y\(0 3
4 2 6 |2 S =16z |cos@| 32,
a
(0,-1,2)
[ 1]

L | S X +y +2°+2x+2y+6z—a=0 BiXx+2y—-7+6=0
C(X D2+ (y+1)° +(z+3) =a+1l 6’ —a+1l r=+a+s
a>-11 (-1,-1-3) Ja+11 { J

|-1-2+3+6] ~1|+V6-= {J
LA AR P/
IB Vi+4+1 f
0) (-2
& | e
—4) (-2
P ~d<res/6<ya+ll- -5<a B (-2,-3-2)
X =-1+1t
[ ] y=—1+2t
z=-3-1t
PiX+2y-2+6=0 t=-1
B (-2,-3-2)
~d<re/6=ya+ll
=—5=a
-ll<a<-5
-1 1 1 0 -2 d-r
6= 2| [ 1] |-
S G I {3} =6 -+a+11

(01,-4) (-2,-3-2)

B (-2,-3,-2)




L ] S, X +y +z8 =r? S, (x—4)2+(y—4)?+(z-42)? =52
r r
J16+16+32 =8
| r-5|<8<r+5
Hi 1 S:x*+y*+7%+3x+4y-32=10 | X4 _y-6_z-3
2 -2 -1
X=-4+2t
l:y=6-2t S
z=3-1 \®\
(-4+21)* +(6—2t)* +(3—t)* +3(-4+2t) +4(6—2t) —3(3—1) =10
t?-5t+6=0 t=2.3
A(0,2), B(2,0,0) AB=+414+1=3
L | S:xX+y*+2°=1 m 1 (%,1,0) (k,k,1)
1 1
X = —+ kt «D=0esk=+t—
: 2
m- y =1+ kt S 7
z =0+ 1t 9 3 1
. 2+ =Tt+>=0
(& kt)? + 1+ kD) +12 =1 [
2 3 1,
1 (Ttia) =0
(2k? +Dt? + 3kt + = =0 !
4 V7 15_47
D =9k? - (2k? +1) = 7k? -1 t=%-5" (§’€’+?)
-1 1 1
=D>0-k<—=,—=<k k,k,21)- (= +kt,L+kt,t) =0
NeANG [ kD G )
[ ] 4
Al-11) B(21-1) C(331),0(0,0,0) OABC
OAB a n= a,b,c a b c
1 =252 2 e
OAB s E\/|a| Ib[? —(a-b)
OAB C | OABC %Sh

e




X_

2=0

) a,a,a,eZ(
-1
ax"+a, X" +--+a,=0

V2

T /

1
e = lim(d+h)"

e+m,enw

2 3 n

n—w©

=0.57721 56649 01532 86060
1 1 1 1 1

IR UV
—0.91596 55941 77269 01505

p p a
x"+y"=2" X, Y,z
® ®
n n
V-1 o
N R
N

n+1 n
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